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Mathematics



1s What is probability of getting '2' in even number of throws of a die is ? ( ~ )
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2. A G.P. of 64 terms is such that Sn (total) = 7(Sn)odd terms then common ratio of G.P is (M )
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3. Value of L|m cos(t ) dt is O
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4. If all word by using letters of word "GTWENTY" are arranged as in dictionary, then rank of the word M
“GTWENTY" is :;:
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5. If C(‘) £ S .+, il , then value is O
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6. In an A.hen common difference for which ai.az.ag is(leasdis
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8. If@here AT is transpose of matrix A then, 2 A[(A + AT)2 + (A -A' )2] =?
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0. A relation R is defined on I x I such that{(a, b)R (c,d) Jif and only if ad — bc is divisible by 5, then @

relation R is a —
Reflexive and symmetric relation both
) symmetric and transitive relation both
) Transitive and reflexive relation both
\/(&) Equivalence relation
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10. If |z+1|=az+B (1 +i)and z =% - 2i, then the value of |a + B| is equal to, where o, B € R @
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P
11 If mean and variance of observations 60, 60, 44, 58, 68, 56, o, B arnd 66.2 respectively then ~
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12. 5,5,6 are three pairwise non-collinear vectors. a+6bis collinear with ¢, b+5cis collinear with a, then M
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7+ 6b+20C=0
' Ot«b+pc=0
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